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Review for Parabola and Absolute Value Test
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V><
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1) (a) Draw a graph of the equation
y=-~x%+4x-3 forall values of xsuch
that -1 = x¥=< b.

(b) On the same set of axes, draw the graph
of y+l=x

(c) Using the graphs drawn in parts (a)and

(b), determine the solution of the system:

y=-x2+4x-3
y+l=zx

2) Solve the following system of equations for
the positive value of y.

X=2y
x+y~=15



3)

4)

5)

Solve the following system of equations
algebraically and check:

y=2x2+2x+3
x=y-3

Solve the following system of equations
algebraically and check:

y= a2+ 3x+4
y-x=7

What is a solution for the following system of
equations? :

y=x

y=-4x+12
A) (-2,4) C) (24)
B) (-6,24) D) (6,36)

6)

7)

8)

9)
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Solve the following system of equations for
the positive value of x:

X
X2

Yy
Y

The graphs of the equations y= @ - 4x-1
and y+ 3 = -xare drawn on the same set of
axes. At what point do the graphs intersect?
A) (-14) €) (-1,-2)

B) (2-5) D) (2.1)

The graphs of the equation y= X2 and y= 2x
intersect in two points, one of which is the
origin. What are the coordinates of the other
point?.
A) (1,2)
8) (4.2)

¢y (2.1)
D) (24)

If the roots of a quadratic equation are 5
and 3, write the equation in ax? + bx+¢c=0
form.



10) Which quadratic equation has -2 and 3 as its
roots?
A) ¥+x-6=0
B) ¥-x-6=0
€) X+Bx+6=0
D) ¥2-5x+6=0

11) If the root of a quadratic equation is 4, write

the equation in ax2 + bx+ c¢= O form.

12) An equation whose rootsare 4 and -1 is
A) R +3x+4z0
B) x-3x+4:0
C) ¥ +3x-4=0
D) #-3x-4:=0
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13) Which is an equation of the line of symmetry
for the parabola in the accompanying

diagram?
Mo
/
X f
h | /
\ i
- R
10 -5 107
10
"
A) x=3 C) x=4
B) x=2 D) y=3

14) What is an equation of the axis of symmetry
for the parabola whose equation is

y=2x2+8x-1?
A) x=-4 C) x=4
B x=2 D) x=-2

15) Find the equation of the axis of symmetry
and the coordinates of the turning point for
y=-2x2-4x+6.
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16) The coordinates of the turning point of the 4
graph of y= 2x2 - 4x+lare
A) (1.1) C) (1.-1)
B) (-1,b6) D) (2,1)
) 19) « / \ X
5 [ \ 5

5
¥

17) The coordinates of the turning point of the
graph of the equation y= x% - 2x- 8 are (1,4).

What is the value of 4> Which of the following statements best

describes given the graph?

A) The maximum occurs when y'= 3.
B) The axis of symmetry is x= 3.
C)} An x-intercept is 3.

D) The axis of symmetry is y= 1.

18) The equation of the axis of symmetry of a 20) Which of the following conclusions is

parabola is x= 2. If the parabola intersects accurate about the parabola below?
the x-axis at the points whose coordinates
are (-1,0) and (4£,0), find 4. y“s
/ \
« X
< 36
/ \
/ \
/ \
[ 5
Y

A) The axis of symmetry is the y-axis.
B) The minimum value is at (0,4).

€) The maximum value is at (2,0).

D) The vertex is at (4,0).




21)

22)

23)

Which of the following statements is a valid
conclusion concerning the graph of the
parabola below?

YA
30

257

203 /
151 /
‘[05
1 \
Oj./ >
01 2345678910
A) The minimum value is at (0,0).
B) The axis of symmetry is x= 25.

C) The vertex of the parabola is at (10,0).
D)} The maximum value ig located at (5,25).

When the y-intercept of a quadratic equation
is increased by two, what will happen to the
graph of the equation?

A) It is shifted down 2 units.

B) Itisshifted 2 units to the right.

C) Ttisshifted 2 units up.

D) TItisshifted 4 units up.

Describe the shift in the vertex of the
parabola in the graph of the function y= X2 if
it is changed to y= 4% - 3.

A) The vertex shifts 3 units down.

B) The vertex shifts 3 units up.

C) The vertex shifts 3 units to the right.

D) The vertex shifts 3 units to the left.
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24) What is the effect on the graph of the

2b)

26)

equation y = -2x% + 1 when the equation is
changed to y= 242 + 12

A) The graph of y=-2x2 +1is translated
4 units up.

B) The graph of y=-24% +1is translated
4 units down.

C) The graphof y=-2x%+1isareflection
of y= 242 +1over theline y= 1.

D) The graph of y= -2x2 +1is a reflection

of y= 2% + 1 across the y-axis.

Which of the following functions will
generate a graph that has been translated
5 units up from the graph of y= x% + 42
A) y=x*-1

B) y=x*+9

C) y=(x-5)2+4

D) y=x2+5

Eduardo graphs the functions f(x) = A2 +5
and f(x) = %xa - 3 on the same axes. Which of

the following conclusions can be drawn about
Eduardo's graphs of these equations?

A) The second graph is wider than the first
graph and is translated down 8 units.

B) The second graph is narrower than the
first graph and is translated down
3 units.

C) The second graph is narrower than the
first graph and is translated down
8 units.

D) The second graph is wider than the first
graph and is translated down 3 units.



27) Write the equation of a parabola whose graph
is shifted 7 units down from the graph of

28) Which of the following equations will produce

29)

30)

y=3x2+5,

the narrowest parabola?
A) y=-03x°

3
B) y==x°
Y rey

C) y=06x2
1

D) y=--42
) ¥y yy

What effect will changing y= 242 + 4 to

y= 452 + 4 have on the graph of the original

equation?

A) The parabola will shift 2 units up.
B) The parabola will be narrower.

C) The y-intercept is doubled.

D) The parabola will be wider.

The graph of the parabola y= 2x% - 3 is
reflected in the x-axis. Which of the
following equations best represents this

transformation?
A) y=-2x2+3
B) y=-3x2+2

C) y=2x+3
D) y=-2x2-3

31)

32)

33)

34)
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In order to slide the graph of y= x2 + 8 down
5 units, which of the following changes should
be made?
A) Change the 8 to 13.
B) Replace ywith (y-b).
C) Change the 8 to 3.
D) Replace xwith (x-b).

In the function y= &2 - 4, the -4 is changed
to a 3. What best describes the change in the
turning point?

A) 7 units down €) 1unit down

B) lunitup D) 7 unitsup

How would the graph of the function

y= x%+ cbe affected if the value of the

constant, ¢, were decreased by 5?

A) The graph would be shifted to the left by
5 units.

B) The graph would be shifted down b units.

C) The graph would be shifted up b units.

D)} The graph would be shifted to the right
by 5 units.

What will be the equation of the resulting
graph if the graph of y= | x| is shifted

3 units up?

A) y=|x| -3 C) y=lx+3]
B) y= |x-3] D) y= fx| +3



35)

36)

37)

What will be the equation of the resulting
graph if the graph of y= | x| is shifted

3 units to the lef1?
A) y=|x-3]

B) y=|x|+3

€) y=1x| -3
D) y= |x+3]

When compared to the graph of y= | x|, the
graphof y= | x| -8is

A) shifted to the left 8 units

B) shifted down 8 units

C) shifted up 8 units

D) shifted to the right 8 units

The graph of y= | x| for x<0isa
C) line
D) parabola

A} ray
B) line segment

38)

39)
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Write the equation of the parabola that
opens downwards, has a vertex V(1,5), and is

congruent to y= -i)ca. [Place the answer in
the formy = a(x - BF + k.]

A) yz—gx+ 12 -5
B) y= ~‘—11(x- 1)2+5
C) y= -%(x- 12-5

D) y= —i(x+ 12+ 5

Which equation represents the parabola
shown in the graph below?
| Y4
(-3:1)
\
[ \

y Y

A) f(x)=-(x-3)2-3
B) f(x)=-(x-3)%+1
C) f()=-{x+3)2+1
D) f(x)=(x+1)>-3
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H0) A rocket is launched from the ground and follows a parabolic path represented by the equation
y= -x2 + 10x. At the same time, a flare is launched from a height of 10 feet and follows a straight
path represented by the equation y= -x+ 10. Using the accompanying set of axes, graph the
equations that represent the paths of the rocket and the flare, and find the coordinates of the
point or points where the paths intersect. [ Show a/l work]

Y

L ]

A

41) W:Thouf usmg a calculator, determine the vertex of the following parabola. Show alt workl
Saolve chm'\plth\‘fMSW(t )
y=x?-10x + 27




‘-133 (a) On the set of axes below, graph and label the equations y'= | x| and y= 3| x| for the interval
-3=x=3.

{(b) Explain how changing the coefficient of the absolute value from 1 to 3 affects the graph.

YA

Vx

A




Name:

FoA

-

<

L)

<l e o

Vo

3

lgebra 1

"Date:

Period

3882 -1-Pagel

Review for Parabola and Absolute Value Test
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mnv Uﬂns. a m_..m_ur of .:..n mn.._n.:n:
y= -2 +4x-3 for all values of xsuch
that -1= x= 5,

(b). On the same set of axes, draw .}m graph

of y+1=x

(c) Using the graphs drawn in parts (a) and

{5}, determine the solution of the system:

y=-x2+4x-3
w.& X

=5

e

[&]

iy

A+ B)

L (-6.24)
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6)  Solve the following system of equations for
the positive value of x —~

§

Nl it .
‘Solve .::n following system of equations
n_mm_u_..n%p_:\ fid checki™y- Moy sv™
. Ty Cheerem .3.»+9.
\\_\.I.-HN +3x+ 4 . W‘\Y _ H
y-x=7 \nw Wy -
’ +x ko
_ Ih e
.u\ xrl

Foert

What is a solutian Tor the following system of
equations? ﬂnﬁw
Ged G
y= A2 nemﬂ,ﬁ* niu Tk
yz Ax+ ﬁN Cale L v
AY (-2.8) G EA yo
B) (6,36) "

|®

9) -

.___v

oA

ﬁmﬂm graphs of the equations y=x2 - 4x-1
and y+3 = -¥are drawn on the same set of
axes. At what point do the graphs _=+n1ma3u

A) (1) ) {-1-2)
TS VD
. e ke

| w@u 2 %?T{Z oy

“The graphsiof the equation y= »2 and y= 2x
intersect in two points, one of which is'the
origin. What n_..o *rm noo_.i_sﬂmm o.m the other

point?.
0 mm ;p _@w
&&)A\Lh

A) (1,2)

B) (4.2)
w _39_ .?« {H\
o S :9\« ot

If i.@ of a quadratic equation E..mﬁﬁ

and 3 Write the equation in ax? + bx+edQ

h\wx\mvfr_u Zo .
. - NN v
x-S (30 c, fi%.w

xeStxzzmy @?



10) Which quadratic equation has -2 and 3 as its
v roofs?

A) Prx-6=0
: -x-6:=0
C) 2+Bx+6=0 - .
D) R-5x+6=0 :
X o{Xx ~¢ zo
K-3x tdx ¢ 2o
> mk._.hu ﬁx\.wd\ .

~-2fx=
11) Tf therootof a n_:,o%.ﬂ.mow egquation RM. write
the equationin ax? + bx+ c= 0 form. ] .

G

XJ .q_lim\,y ‘b =0 !
XX A X +pzo
Cr_=4)(x <) zo

B) x2-3x+4=0
C) *~.+wk|huo
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13) Which is an equation of +@Q

" for the parabola in the accompanying

diagram?
‘.l’ -
¥
X I
Y
]
X
- 5 10
] i
T
]
PN\
.
} x=3 €y x=4
By x=2 D) y=3

14) What is an equation of +.rn axis of symmetry
for the parabala whose equationis

y= 222+ Bx- 12
CA) k=4 Q32 C) x=4
Brtoes @D
X= -2
“ 2
- ..thmv ||\||I||.< 1,.||N
2 7Y K="

15} Find the equation of the axis of QE&RQ

and the coordinates of the turning peint for
g coordinales of the turning paint To

=22 - 4x+6.
023 vt o L
xuNm. ) .pun-wm.b ..M_fnv*h
N R e ek
: 2L

B onmmmw?? k7

X= -k

graphof y= 242 -4x+1are

A) ) % 2 @
DY TZTS

= 2xrAx s
W= 20)E4 00 H

.Xn vw.»_.,xv X‘.v 4 dug_v-ﬁ& H

22y ot ,.mmx% *
17) ;n.nooﬁ&:nq@?m turrting point of the

graph of the equation y= &? - 2x-Bare (1,4).
What is the value of 42 W ehec v cule

X! : ot Q‘.My

= X-21x-2 .
meeﬂ_-ka.@ y A9
L=t-2-8

(1-9)

= 9

. 18Y The-equation of the axis of symmetry of @

. _parabala is x= 2. If the parabola infersects
the x-axis at the points whose coordinates
are (1,0} and (4£,0), find £.
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19} <

|

E.
e A

Which of the following statements bes?

describes giverithe graph?

A) The méximum occurs when

The axis of symmetry is x= 3.
™. An x-infercept is 3.

.wl!.:._m axis of symmetry is(p= L.

20).. Which of the following conclusions is .
 accurdte about the parabola below? J .
. rec

Nl

—
I

B) The minimum value is at (0.4).
€) The maximum value isat {2.,0).
D} Thevertexisat(40).
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21) Which of the following statemenisisavalid |24) What is the effect on the graph of the 27) Write the equation of a parabola whose graph wc In order to slide the graph of y= 42 +8 down

™. conclusion concerning the graph of the equation y <222 + 1 when the equation'id, ’ is shifted 7 units down from the graph of 5 units, which of the following nro:mmm shorL
parabola below? changed to y= 252 + 12 ‘ . Be made? :
" A) The graph of y=-2x2 + Lis translated 4 r .. A) Change the 8 t0.13. : :
307 4 units up. ) 3 ﬂ\* B) Repl with (y-5).
mmm \%/ B) The mavr of yz-2x2+1is ﬁdzn_p,..na ®) Change the 8 to 3
1 \ / . W:\ B) Replace x¥with {x-5).
207 / The graph of y= -2.2 +1is a reflectiph . ] — L‘M- - Xﬁ + 2
TN | N + Dt
] \ ) D) Thegraphof y=-2x2+1isa qﬂn_nnﬂm: : : . 2 .
10— of y= 2% +1 across the y-axis. . ‘ = AT4D
3 \ - / . 32) Inthe function y= & -4, the 4 is changed
5 S - . . .
. . -28) ﬁr_nrwﬁ the *o__oi_h:w Macn.:o_._m will produce to a 3. What bestdescribes the nrn-.mn nthe
Ry 456780910 o , A Garroives HM»NNH arabolas 5 yio6x ~ &RE:.._S point?
>v The minimum value is at (0.0). : : ) = 3 o 'R e L : \L.. AY 7 uhits down 1 unit aoiz‘
B) The axis of symmetry is x= 25, 25) Which of the following functions will T B) y= »w m. D) y=-2a2 /vw B) 1lunit cv :
) The ais at (10,0). .generate @ graph that has been translated \n 4 . . -
) The maximum value m.m located at (5,25). 5 units up from the graph of y= 42« 42 ’\ u @}i — 3. |
+s »0& n 7 :/ - W :TJ ) +] :
4= %"t 4 on&ﬂc . - - 3V
€) y=(x-5)2+4 . . . |33) How would the graph of the functien
[5)) ¥= W +5. A ”qu What n.m.mﬂh.u. S__: n—.ﬁ:w:._m y= @Nﬂm +4 ._.O o) eys 2+ cheaffected m.m the value of +.Tm
22) When the y-intercept of-a quadratic equation . \@N 4 rn<m. on the graph of the E,_m_:n_ constant, ¢, were decreased by 52 l.m
€ ! )
is increased by two, what will happen to the equation: A) The mqn_u: would be shifted to the left by
graph of the equation? ) ’ A) The parabola will shift 2 units up.
A) Tt is shifted down 2 units. - . ,Vu.\ @ - B _Qvuow nw ”__MM wnmﬂwmw_n”h _“uvnoﬂﬁﬂmzn > . BT o b hied doun
B) It isshifted 2 unitsto the right. =2 ) ) oed- e graph would be shifted up 5 units.
O TisShifred s g 26) Eduarde m\_w%rm the ?zn.:o:u () . M D) The parabola will be wider, D) The graph would be shif ted fo the q._mz
D) It is shifted 4 vnits up. and F{x) £ —x° -3 on the same axes. Whic 9. u. o by B units.
: the following conclusions can be drawn about Y.Unnv\v
Eduardo’s graphs of these equations? ™ ¥

y % 33? e

. dﬂl“.wou The graph of the parabola y= 2x% - 3 is

d ig franslated down B units.

o S B) The second graph is narrower than the u reflected in the x-axis. Which of the 34) What will be the equation of the _..mh_.__::m
2% Wnn“._uﬁpﬁ ﬂ:ﬂ:mmr.mﬂvﬁﬂﬂmhﬂmwﬂwh MHW- 2if first groph and is translated down : following equations bes? represents this graph if the m_‘dur of y= | x| is shifted
B it transfarmation?
it is changed to y= 4% - 3. cx.u,.rf-./ 3 units. rangrarmeren 3 units up?

CY The second graph is narrowerthan the
first graph and is translated down
3 The vertex shifts 3 units up. 8 ::m,m.m. P S -

C) The vertex m:&m 3 units to the right. D) The second graph is wider than the first
D} The vertex shifts 3 units to the feft. ’ graph and is translated down 3 units.

A) y=]x|-3
B) y=|x-3}




@ o

ol oo e
. :
p.& ,ub p . : . .
A 6895 -A - Page 7 w@%\ . : 3821 Pages
) . i r o
25) What will be the equation of the resulting | 38) Write :s equation of the Eag_ ‘that 40) A 3%9, is. _E%_ﬂn_ from the ground aa_ ?_,o%.”_ w Eaaﬂ_a ﬂaﬂ_,w%wﬂwim“ ,_w,_”so 2%:2%
graph if the graph of y= [ x| is shifted apens downwards, his a vertex V(1.5¥, and is y= m__ +10x. >+n.__. _um mﬂuﬁ time, a dn_nuqn Is Mczm e wﬂa a height o ee *n_._ o osmrn; raight- -
3 units fo the lef? ) xm toce th mr path répresented by the equation y= -x+ 10. Using the accompanying set o axes, graph the
I&J ) y=Ixl-3 congiuent Yo y = ~=°. [Place the gnswer in equations that represent the paths of the rocket and the flare, ....za_ find the coordinates of fhe
p “H .W_H_‘....‘w o @ the farmy = afx - Qm +k] . point or points where the paths intersect. [ Show aff work)
) . - MV g Qc_\,o?«\.\rl
e A &-;%icx o foduk
Q\X N.v N .
. Y T-x+lo
36) When compared to the graphof y = _k_ the: -0y 1MT? 12 - . \ JJ . L \ . J .
graphof = |xi-8is - v AN o H < v
units _ww\..xu[mﬁ\?:,fm : ’ i Lol MY E e
B) shifted down 8 units I v '
€) shifted up 8 units - =
D) shifted to the right 8 units F _“ _
. N . I _,
m . U '39) Which equation represents the parabola. N HA
x ™. .hG—r:.v shown in the graph below? XV : Lt -
N NP ]
: C ‘ J ’ TR SE
q = =0i ’ B A . - : -
37) Thegraphof y= x| for x=*0isa ‘ . \ : P\w O L e _ .
Q) line ) : iSUNE /u.. ! = il
D) parabole . X - 1 )
. i - i <
\ i " 1
,,# 3 LT
Y T?O
| A3 = :
B) f(x)=-(x-3)2+1 .
’ 41) M\,_v.}o_._._. using a nn”w..w_a_n.qoﬂ. mm.wqu,:m the vertex of the ,ﬂo__oi_:m _un1nvo_n. Show all EE.r.
C e * .
DEEREEE (ST com Ay
) pd . ' X.wav _#P y= x-10x + 27
. . - E . o
3y Y Ko7 =
bR : Ay




42) (a) Onthe set of axes below, graph and label the equations y= | x| and y= 3| x| for the interval
-3=x=3.

{b) Explain how changing the coefficient of the absolute value from 1 to 3 affects the graph.
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